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Содержание

η
ξ 0 2 4 6 qj

0 0.15 0.1 0.1 0.05 0.4
4 0.1 0.1 0.05 0.1 0.3
8 0.05 0.05 0.1 0.05 0.3

p+ i 0.3 0.25 0.25 0.2
∑

= 1

Задача 1. pn =?

Задача 2. Частичные ξ и η. Eξ,Dξ,Eη,Dη, σξ, ση

Решение.

ξi 0 2 4 6
pi 0.3 0.25 0.25 0.2

ηi 0 4 8
qi 0.4 0.3 0.3

Eξ =
∑

ξipi = 2.7

Dξ = 4.91

σξ = 2.216

Eη = 3.6

Dη = 11.04

σeta = 3.323

Задача 3. Независимые?

Решение. p?? = 0.1
p2 · q2 = 0.25 · 0.3 = 0.075
Тогда ξ, η независимы

Задача 4.

p

(
ξ2

9
+

η2

25
≤ 1

)
=?

Решение.

p

(
ξ2

9
+

η2

25
= 1

)
− p(ξ = 0, η = 0) + p(ξ = 2, η = 0) + p(ξ = 0, η = 4) = 0.15 + 0.1 + 0.05 = 0.3

F (x, y) =

{
1− 1

x2 − 1
y2 + 1

x2y2 (x, y) ∈ {x ≥ 1, y ≥ 1}
0 (x, y) ̸∈ {x ≥ 1, y ≥ 1}

Задача 5.
fξ,η(x, y) =?

1
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Решение.

fξ,η =
∂2F

∂x∂y

∂F

∂x
=

2

x2
− 2

x3y2

∂2F

∂x∂y
=

4

x3y3

fξ,η(x, y) =

{
4

x3y3 (x, y) ∈ {x ≥ 1, y ≥ 1}
0 (x, y) ̸∈ {≥ 1, y ≥ 1}

Задача 6.
fξ(x) =? fη(y) =?

Решение.

fξ(x) =

∫ +∞

−∞
fξ,η(x, y) dy =

∫ ∞

1

4

x3y3
dy = (1)

= − 4

x3
· 1

2y2
∣∣∞
1

= − 1

x3

(
lim
y→∞

1

y2
− 1

)
=

2

x3
(2)

fξ(x) =

{
0 x < 1
2
x3 x ≥ 1

fη(y) =

{
0 y < 1
2
y2 y ≥ 1

Задача 7.
Fξ(x) =? Fη(y) =?

Решение.

Fξ(x) =

∫ x

−∞
fξ(x) dx =

∫ x

1

2

x3
dx = − 1

x2

∣∣x
1
= 1− 1

x2
(3)

Fξ(x) =

{
0 x < 1

1− 1
x2 x ≥ 1

(4)

Fη(y) =

{
0 y < 1

1− 1
y2 y ≥ 1

(5)

Задача 8. Независимы?

Решение.

fξ · fη(y) =
2

x3

2

y3
=

4

x3y3
= fξ,η(x, y) (6)

=⇒ ξ, η — независимы

Fξ(x) · Fη(y) =

(
1− 1

x2

)(
1− 1

y2

)
= 1− 1

x2
− 1

y2
+

1

x2y2
= Fξ,η(x, y) (7)

Задача 9.
p(2 ≤ y < 4, 1 < η < 2) =?

Решение.

p(2 < ξ < 4, 1 < η < 2) = p(2 < ξ < 4) · (1 < η < 2) = (Fξ(4)− Fξ(2)) · Fη(2) =

=

((
1− 1

16

)
−

(
1− 1

4

))
·
(
1− 1

4

)
p(2 < ξ < 4, 1 < η < 2) = F (4, 2)− F (2, 2)− F (4, 1) + F (2, 1) =

9
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